Aim:  Can the economy regulate itself?

Topic -Self-adjustment to shifts

Document #1:  Review of Exogenous Shocks
Exogenous shocks:  shocks to AD/AS that change price level, gdp, takes graph/economy away from LRAS and equilibrium.

With exogenous shocks and shifts, there is always a shift and a move.


Example#1:   when AD decreases, there will be a shift of the AD curve to the left, and a movement along the supply curve to the left (supply decreases as people buy less).
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1)  How do exogenous shocks move an economy away from equilibrium?

2)  Why must there always be a shift of one curve and a movement along the opposite curve at the same time?

3)  Provide a similar example to AD increasing 

Document #2:  The Invisible Hand and self-regulating mechanisms
Invisible hand:  the economy can fix/regulate itself when exogenous shocks occur.  

Invisible hand and exogenous shocks:  the invisible hand will return economy through equilibrium through natural economic mechanisms that affect aggregate supply (wages, costs of inputs, unemployment, expectations of future prices, etc.).  This shift usually takes place through SRAS.  

Example #1:  Consumer Confidence Increases:  Rightward Aggregate Demand shock – this increases price level and real gdp and creates a recessionary gap


Response of the Invisible Hand:     



1)  This begins to increase inflationary conditions with the price level increasing.  

2)  Workers will begin to demand higher wages, which will in the long run cause businesses to have to lay-off workers.  This will shift SRAS to the left, back to LRAS because their inputs are too high, and now have to lay-off resources.    

OR

3)  With price level increasing, businesses will expect higher future prices, and reduce supply now to produce more later returning AS back to equilibrium.  
Example #2:  Investment Spending Decreases:  Leftward Aggregate Demand shock – this decrease price level and real gdp and creates a recessionary gap
Response of Invisible Hand:
1)  This begins to create recessionary conditions with the price level decreasing

2)  With unemployment, wages will decrease and people will be willing to work for less.   This will lead to a decrease in input costs and will shift SRAS to the right, back to LRAS because inputs are now decreasing and businesses can produce more for less. 

OR



3)  With the price level decreasing, businesses will expect lower future prices, and increase supply now before prices drop too low, returning AS back to equilibrium.   
1)  How did the invisible hand self-correct the inflationary gap?
2)  How did the invisible hand self-correct the recessionary gap?
3)  Why are wages an important economic mechanism?
4)  Why does the invisible hand self-correct through aggregate supply?
5)  Do you think the government should just let the economy return to normal on its own, or should the government step in and intervene?
6)  Based on invisible hand, what are potential risks of government involvement?

